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Q. 1 Multiple Choice Questions: 10
e e errors occurs mainly due to human mistake in recording and
calibrating instrument.
(i) random error

(ii) systematic error

(ii1)  gross error

(iv)  instrumental error
2. The delay time for CRO is

6] 100 ns
(ii) 400 ns
(iiiy 200 ns
(iv) 600 ns
3. I’sand 2’s complement system is used to represent ---------------- numbers

(i)  Positive numbers
(i) Negative numbers
(iii) Complex numbers
(iv) Irrational numbers

4. Octal number system has ----------- unique symbols.
i 8
(i) 16
(i) 2
(iv) 4

5. The binary number for 9919 is
i) 01100011~
ii) 1011 1100
iii) 1001 1110
iv) 11100011
6. 9816 + ABis =

0 Il
() 1431
(i) 17116
(v) 18316

7. Weighted Binary codes
(i) Do not obey principle of positional weightage
(ii)  Obey principle of positional weightage.
(iii)  follow some definite rule
(iv) None of above

8. The Gray code for binary code 110011015 is
(1) 11100010
(i) 10110111
(iii) 10101011
(iv) 11001100
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9. According to Boolean Laws 4 + AB =

10. The fundamental operators of Boolean Algebra are

() A+B

(i) A+B
(i) A+AB
(iv) A+B

(1) NAND, NOR and OR
(i)  XOR, NAND and NOR
(iii)  AND, OR and NOT
(iv)  None of the above

Q2: True or False

1. The probable error ‘r’ is given by +0.6745 o .
2. Octal number system has 8 unique symbols
3. The full form of CRO is Cathode Ray Oscillator.

4. 1’s and 2’s complement system is used to represent Positive numbers.

5. 5211 is reflective code.

6. Weighted binary codes obey principle of positional weightage.

7. By forming doublet we can reduce one variable in Karnaugh mapping.

8. According to Boolean algebra, 1+1=1

Q3: Answer any 10 questions out of 12 questions briefly.

Draw block diagram of CRO.
Name the different types of errors you know.
Define accuracy and precision.

Convert the following Binary Numbers to decimal:
2)10010101 b)11011100

7. Define Reflective code with examples.

8. Define Sequential code with examples.

9. Define XS3 code.
10. State utilities of De-Morgan’s theorem.

11. Construct AND, OR and NOT gate using NAND gate.

12. Prove that Boolean Laws A + AB = A + B

Q4: Answer any 4 qucstions out of 8 quesiions eiaborately.

1(a) Define Error.

1 (b) The following value were obtained from the measurement of the

value of resister:

Convert the following decimal numbers to binary: a)121
Convert the following Hexadecimal to Binary a) 7AB4

b)161
b)9BC8
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6

147.2€2,147.4€2, 14790, 148.1Q, 147.1Q, 147.5Q,147.6Q, 1474 Q,147.6 Q

and 147.5 Q2 .Calculate

a. The arithmetic mean,

b. The average deviation

c. the standard deviation

d. Probable error of the average of the ten readings.

2. Explain basic working of CRO.

3a.

3b.
3c.

Multiply the following Hexadecimal numbers: 89BC x AA

Multiply the following binary numbers using computer method: 1001 x 101

Convert the following Hexadecimal to Binary:
(@) ARCD (b)) BCCH
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4(a). Add the following decimal numbers using eight - bit two’s complement 3
airthmetic: -154 — 66

4(b). Multiply the following Hexadecimal numbers 6A x 2DD35

4(c). Subtract the following Hexadecimal numbers 1A92 from A7683
3(@) Add 6748 to 5972 in BCD (8421) code
5(b) Add 247.6 to 359.4 in XS3 code - S
5(c) Subtract 27.8 from 57.6 in XS3 code. /2 L\

6(a) Add 5085 to 9322 in BCD (8421) code 5\
6(b) Add 347.2 to 087.5 in XS3 code hlsﬁi\R\' 2|l
6(c) Subtract 175 from 267 in XS3 code. \ AN
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AB+ ABC + A(B + AB) \”’ V*\f’;‘
7(a) Reduce Boolean Expression N 4

7(b) Reduce by mapping & implement in SOP NAND logic
F=>"m0,2,3,6,7,8,10,11,12,15) 4

8(a) ABC+AB+BC 4

8(5) Find POS and SOP form of & = 25,6, 7,9,10,1LI3,14,15) | 1 a4 boce 4
costly?
5k kK K %k




